Vypocet kulminacniho priitoku

Dil¢i povodi| Skupina pad | H(qz015| N I(m) | Hg(mm) s I 1./H, Tw=T. Ao | Pp(m) | H, f | am**sh | aesh
Dy a1 30 0,24 15 14,3 0,03 12,7 | 0,42 0,27 500 25 3,70 1 | 0,00020 0,20

By a1 30 0,24 | 22 14,3 0,05 | 22,82 | 0,76 0,30 320 134 | 0,42 1 | 0,00008 0,08

AL Dy a1 30 0,24 | 28 14,3 0,14 12,7 | 0,42 0,24 520 | 454 | 3,70 1 | 0,00376 3,76
By a1 30 024 | 71 14,3 0,1 22,82 | 0,76 0,59 210 | 2775 | 0,42 1 | o0,00106 1,06

Di a1 30 0,24 8 14,3 0,1 12,7 | 0,42 0,10 790 336 | 3,70 1 | 0,00423 4,23

- - - 144 - - - - 1,51 - 3724 - - 0,00933 9,33

Dy a2 30 0,24 | 87 14,3 0,036 | 12,7 | 0,42 1,04 230 262 | 3,70 1 | 0,00096 0,96

A2 By a2 30 0,24 18 14,3 0,08 | 22,82 | 0,76 0,21 350 272 | 0,42 1 | 0,00017 0,17
Di a2 30 0,24 | 59 14,3 0,15 12,7 | 0,42 0,43 350 | 1749 | 3,70 1 | 0,00975 9,75

- - - 164 - - - - 1,68 - 2283 - - 0,01088 | 10,88

Dy a3 30 0,24 | 70 14,3 0,04 12,7 | 0,42 0,84 240 623 | 3,70 1 | 0,00238 2,38

A3 By a3 30 0,24 | 20 14,3 0,08 | 22,82 | 0,76 0,23 350 | 917 | 0,42 1 | 0,00059 0,59
D a3 30 0,24 | 54 14,3 0,15 12,7 | 0,42 0,40 370 | 3054 | 3,70 1 | 0,01800 | 18,00

- - - 144 - - - - 1,47 - 4594 - - 0,02302 | 23,02

A4 D ns 30 0,24 | 20 14,3 0,15 12,7 | 0,42 0,18 590 | 1433 [3,7041| 1 | 0,01347 | 13,47
- - - 20 - - - - 0,18 - 1433 - - 0,01347 | 13,47

Soucet A - - - - - - - - - - 12034 - - 0,05669 | 56,69
Dus 30 0,24 | 86 14,3 0,04 12,7 | 0,42 0,99 230 | 6036 |[3,7041| 1 | 0,02211 | 22,11

5 Bus 30 024 | 31 14,3 0,07 | 22,82 | 0,76 0,35 280 | 3795 [0,4246| 1 | 0,00194 1,94
Dis 30 0,24 | 100 14,3 0,15 12,7 | 0,42 0,66 280 | 6465 [3,7041| 1 | 0,02883 | 28,83

- - - 217 - - - - 1,99 - 16296 - - 0,05288 | 52,88

Dyic 30 0,24 | 67 14,3 0,04 12,7 | 0,42 0,81 250 668 |3,7041| 1 | 0,00266 2,66

c Byc 30 0,24 | 48 14,3 0,08 | 22,82 | 0,76 0,47 230 534 |[0,4246| 1 | 0,00022 0,22
Dic 30 0,24 | 136 14,3 0,11 12,7 | 0,42 0,95 230 | 2410 [3,7041| 1 | 0,00883 8,83

- - - 251 - - - - 2,22 - 3612 - - 0,01171 | 11,71




Vypocet primého odtoku pomoci CN krivek

Diléi povodi | Skupina pad | Hg (qz0,i15) | CN A R H, P, (m?) O u (m3)

Dy a1 30 80 63,5 12,7 |3,70408 25 0,09

By a1 30 69 114,1 22,82 (0,42465| 134 0,06

Al Dy a1 30 80 63,5 12,7 13,70408| 454 1,68
By a1 30 69 114,1 22,82 (0,42465| 2775 1,18

D) a1 30 80 63,5 12,7 |3,70408| 336 1,24

- - - - - -~ [ 3724 4,25

Dy a1 30 80 63,5 12,7 |3,70408| 262 0,97

A2 B a1 30 69 114,1 22,82 (0,42465| 272 0,12
D) a1 30 80 63,5 12,7 |3,70408| 1749 6,48

- - - - - - 2283 7,56

Dy a1 30 80 63,5 12,7 |3,70408| 623 2,31

A3 B a1 30 69 114,1 22,82 (0,42465| 917 0,39
D) a1 30 80 63,5 12,7 |3,70408| 3054 11,31

- - - - - - 4594 14,01

Ad D) a1 30 80 63,5 12,7 |3,70408| 1433 5,31
- - - - - - 1433 5,31

Dy a1 30 80 63,5 12,7 |3,70408| 6036 22,36

B B a1 30 69 114,1 22,82 (0,42465| 3795 1,61
D) a1 30 80 63,5 12,7 |3,70408| 6465 23,95

- - - - - - 16296 47,92

Dy a1 30 80 63,5 12,7 |3,70408| 668 2,47

C B a1 30 69 114,1 22,82 (0,42465| 534 0,23
D) a1 30 80 63,5 12,7 |3,70408| 2410 8,93

- - - - - - 3612 11,63
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